
K 

2: I Z14 5 AZA fa (71 5x 5 | Tx AI A) 
5x 15 

5x 15 

Tp 4.2 

i)x+5 = 12 Cii) x-7= 0 ii) y-3 =6 iv) z+6=-5 

(v) 3x= 42 (vi)6 (vii) 12x=-36 (vii) 

(1x) 7x=35 )-3 
2. 

)4x+5- 45 )3x-7=11 G)+5=7 (iv) 7 5 

3 

(i) 4x= 64 i) 4x+7 15 (ii) =6 (iv) 3y= 60 

6p+7=37 (vi) 7p-9-5 (vii) 5x-7=8 (vii)+2 3 

(ix)-1=2 (x) 3x+11 50 (xi) 4x+10 26 (xii)+4=6 

= 12 (xiv)+4-7 (xv) 2(+3) =x+7 

4.4 

x+7=5 

x+7-7=5-7 (RPT 7 R1S1 ) 
x+0 = 5 -7 

*=5 -7 
x=-2 
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R13 
x+7 12 (+73164 A G a 

78R-7 ) 
i) x+7 12 

X12-7 

x=5 
*+7-7 12-7 
*=5 

(i) 4p-11 =5 
4p-11 =5-11 E 

4p= 5+ 11 AF T T 
>4p= 16 +11 33) 

4P- 16

4p- 11 + 11 =5+ 11 

4p= 16 

p=4 
HTR 28 () 3x +5=x+29 (i) 2 5 

(ii) 4(x - 4) 32 

FATNT8 3x+5x+29 
3x-x 29-5 (5 i a a rTA$p Za TEA FR) 

2x 24 

x=12 

TTN NAT X= 12 

-2 5 

5+2 
i) 

7 
1x3 7 x3 

y-21 
HToT 7A14 y= 21 

(i) 4(X- 4) 32 

=X- 4- 1 4 T1 P] 

- 4=8 

x=8+4 12 
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+56 
4 

= 6-5 [5 ata qrA ] 

x4=1 x4 [7313 4 A 3a] 
*=4 

fCI RSTTOI 4 

MRa 48 91 7RJR 3 e ai 4 I FrA AITRA 10 7*TTBI AI | 

io, 7RRJICG|.x a fieI 3x, 3.x3 79 4 AI TAT (3.x + 4); 10 7 R 
3 +4 10 

3r = 10-4 

3r=6 

*=2 

PRCI fRTe 7RTTCDI 2 

I 58 7 (FGUTT afe a1 20 aI 7 afo f a foars 30 

Ife u f Eir 1= (r - 1) a1 

7=20x b1 
fETE7 7= 30(r-1) eI 

T=20x+ 30(x-1) DI 

20r+ 30(r-1)=70 

20r + 30r- 30 =70 
CACA
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50x = 70 +30 

50x =100

100 
2 

50 

sior 1 , 2x 3r 
x+2x+ 3x = 180° (fag eADI1 CI 7AB 180°) 
6x = 180 

180 
6 

x= 30° 
aR7 1 = 30° 

ai3 1 = 2 x 30°=60° 

yONTDI I I = 3 x 30°-90° 

a C5 f 
= 32 

4a= 32 
T a = 8 (TCARF 4 R FI TR) 

.1T=8 5 f 

Tt4.3 

(1) 

(ii) 

(iii) 10 ART I 7RJA 3 ER 7T 4 1 

4 



(iv)R4 9 RJA 75E 6 AI , FIP 3 TA 4 i 

(v) ARJM 7R-oRIR I 4 RIS fTFT 7 (otai T| 

(vi) RIA 6 G 24 TI 

(vii) RJA 9E-5gi 7s1 5 I A 6 (AI 7 I 

(vii) g1 7RIT (UR-5Y«I1 127 7a 

4. gd TT (KI, OFRTtr 5 C5 f aa 26 (5 faIetM Tea1 
5. R T 7, RF7R CRAR H7 4 tI GRA RUT 4 76| 

6. , UETRT 7 7ATB 22| ETTOT 1 34 76 |TR TK 

8. 1, A, CARTI, , U 3 (1I T 9 ( 

9. fOI Pa 7* CRISR 75 T, 7RUI SoRSI R 
10. 01 P 7 TR CATISRR 38 TA.7I TOI f 

13. D1 7R3R IR 401 41 73 TTDIUT 10 7T*TI 7TI fA 



14. 701 HRJT TE 8:3 7RRUI CA15R 60tA 7RI 01 AN TI 

15. 901 ATI N, aR 2 v1ITUOR 72 T AUDR PN Y O Gms

18. 7*7 CEi T UARA FTA 705 be1, 9R7 CATOT HI BA HIAET 40 b1 AIRR 

19. 1 AI 1 120 tT 1 01 A3 

(i) 

(ii) 

(i11) 

(iv) 
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